4) S ’\jzxﬂ*; vE A(@ '12) DIFFE REN MALE PRIMO
A (\Ko‘\\o) = '\X (XO\\‘O) K)(-\C-o.) i _\qK;(ot\{o)(&\-\\O)

3§(2,2) < 2€(9,2) (x-9) + 2£(9.2) (4-2)
B

oq
“’X(Q,Z)= < e \ e \
Rz Nz laz) V22

{q(‘f.z) = &/Z"\ \ 7
(9,2)

/Z/«}Zx‘fqz Nzz
A“ﬁz)- ___(x 3) \- Lx{ z) -\}/2‘2 ()\ 42y —m)

5> 2= X 9% xq D\¥t. S owad0 Im A(Z\")

& { (oto) = Y (ho0) Lx = 40) + 2 4oy ko) (k-o) 4-4) + fu ol
tx= 44 £ 4" j[m = A2 Xz“j J‘xx(\z\\) = 48

b= K edx g dag” daylz) =24
22€(2,0) = 48 (x~2)" #2356 (x-2)(4-) r24(4-1)

2

AZ{ (2‘\3 2 4?(X~2)24c e CX—ZBLLS-\) Y 24 (‘{“)2—



